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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.
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1. Answer any five of the following questions:
1x5=5
@I Aolo dosw Ted 7wl -
a)  Which of the following is not an example of
green solvent?
(A) Dichloromethane (B) Methanol
(C) Acetone
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b) What is heterogeneous catalysis? Give one

example.
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Why is hydrogen fuel more environment
friendly than fossil fuels?
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What does a higher E factor indicate of a

chemical manufacturing process?
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Write down the name of one green alternative
of AICI,, used in Friedel-Crafts alkylation
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Give one example of 100% atom economic

reaction.
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What is supercritical fluid?

Supercritical ©3& JeTce & @RI
What is the difference between a dye and a
pigment?
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2. Answer any two of the following questions:

5x2=10
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iii)

What is the full form of DDT? Why is
DDT a problem for the environment? 2
DDT @3 =jcail s &2 @ DDT #ifeaeas
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Which type of energy transformation

takes place in a microwave reactor? 1
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What is the advantage of using microwave
irradiation instead of conventional heating
for the reaction? 2
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What is ionic liquid? Why an ionic liquid
is called a green solvent? 3
SR O 2 OREE T A A
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What is biodegradable polymer? Give one

example. 2

fSraes sifewig 2 @ Trizad wie |

(3) [Turn Over]

d)

What is combinatorial green chemistry?
How does combinatorial chemistry differ
from traditional methods? 3
PR [Tl 21919 2@l (AF 542

What are the advantages of biocatalyst

compared to chemo catalyst? 2
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"H,O, in presence of a catalyst is a better

oxidizing agent w.r.t. CL,". Explain.
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List the problems associated with lead
and cadmium pigments. How can these
problems be resolved?
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3. Answer any one of the following questions:

10x1=10
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What are the advantages of use right fit
pigments?
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Which chemical was responsible for
Bhopal gas tragedy? How carbaryl can be
produced in safer way?
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What is the cradle-to-cradle concept for

sustainability?

ORI IR o FIC-5-FIee LT 2
Calculate the atom economy for the

following elimination reaction.
2+3+2+3=10
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/\ + HQO + NMe3

Write down the Strecker synthesis
method of Disodium iminodiacetate.
What is the major disadvantage of this
method?
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Outline a green method for the synthesis

of Disodium iminodiacetate.
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What is interesterification process?

@B TR AwlS e

What are the advantages of enzymatic
interesterification for modifying fats and
oils?
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Give an example of photocatalytic
reaction. 3+2+2+2+1=10
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